
1)  

2)  

3)  

PROFESSIONAL EXAMINATION
BOARD

Police Constable Recruitment Test -
2017  

31st Aug 2017 09:00AM

Topic:- General Knowledge and Logical Knowledge

On which book is the movie ‘Kai Po Che’ based? / िफ� ‘काई पो चे’ िकस पु�क पर आधा�रत है?

1. Olympus / ओिल�स

2. The 3 Mistakes of My Life / 3 िम�े� ऑफ माय लाइफ

3. The God of Small Things / द गॉड ऑफ �ॉल िथं�

4. One Amazing Thing / वन अमेिज़ग िथंग

Correct Answer :-

The 3 Mistakes of My Life / 3 िम�े� ऑफ माय लाइफ

Which city has Bina Refinery, also known as Bharat Oman Oil Refinery, a joint venture between
Oman Oil Corporation and Bharat Petroleum Corp? / कौन से शहर म� बीना �रफायनरी है िजसे भारत
ओमान तेल �रफाइनरी भी जाना जाता है, जो ओमान ऑयल कॉप�रेशन और भारत पेट� ोिलयम कॉप� के बीच एक
संयु� उ�म है?

1. Satna / सतना

2. Ujjain / उ�ैन

3. Chanderi / चंदेरी

4. Sagar / सागर

Correct Answer :-

Sagar / सागर

Which constitutional amendment established the Panchayati Raj in India? / िकस संवैधािनक
संशोधन ने भारत म� पंचायती राज की �थापना की है?

1. 22nd Amendment / 22वां संशोधन

2. 75th Amendment / 75वां संशोधन

3. 65th Amendment / 65वां संशोधन
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4. 73rd Amendment / 73वां संशोधन

Correct Answer :-

73rd Amendment / 73वां संशोधन

Hindola Mahal and Jahaz Mahal are both located in___. / िहंडोला महल और जहाज़ महल दोनो ं
____म� ��थत ह�।

1. Mandu / मांडू

2. Bhojpur / भोजपुर

3. Rewa / रीवा

4. Rajgarh / राजगढ़

Correct Answer :-

Mandu / मांडू

Ashoka belonged to: / अशोक िन� न से संबंिधत थे:

1. Gupta dynasty / गु� त वंश

2. Maurya dynasty / मौय� वंश

3. Kushan dynasty / कुषाण वंश

4. Saka dynasty / शक वंश

Correct Answer :-

Maurya dynasty / मौय� वंश

Karera Sanctuary is established in the year. / करेरा अभयार� इस साल म� �थािपत �आ था।

1. 1988

2. 1981

3. 2000

4. 1991

Correct Answer :-

1981

How many High Courts operate in the country? / देश म� िकतने उ� �ायालय संचािलत ह�?

1. 29
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2. 24

3. 27

4. 22

Correct Answer :-

24

The Finance Commission is appointed every / िव� आयोग को हर इतने                   वष� म� िनयु� िकया जाता है

1. 5 years / 5 वष�

2. 3 years / 3 वष�

3. 2 years / 2 वष�

4. 4 years / 4 वष�

Correct Answer :-

5 years / 5 वष�

The first Indian state to achieve 100 percent primary education is_________. / 100 �ितशत �ाथिमक
िश�ा �ा� करने वाला पहला भारतीय रा� _________ है।

1. Gujarat / गुजरात

2. Tamil Nadu / तिमलनाडु

3. Kerala / केरल

4. Delhi / िद�ी

Correct Answer :-

Kerala / केरल

The term ‘Chinaman’ is associated with / श� 'िचनामान' इससे संबंिधत है

1. Football / फुटबॉल

2. Swimming / तैराकी

3. Cricket / ि�केट

4. Tennis / टेिनस

Correct Answer :-

Cricket / ि�केट

Who is the current Chief Minister of Maharashtra? / महारा��  के वत�मान मु�मं�ी कौन ह�?
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1. Devendra Fadnavis / देवे� फडणवीस

2. Vilasrao Deshmukh / िवलासराव देशमुख

3. Sharad Pawar / शरद पवार

4. Bal Thackeray / बाल ठाकरे

Correct Answer :-

Devendra Fadnavis / देवे� फडणवीस

Who is currently the Union minister of Textiles? / वत�मान म� व� के संघीय मं�ी कौन ह�?

1. Radha Mohan Singh / राधा मोहन िसंह

2. Smriti Irani / �ृित ईरानी

3. Maneka Gandhi / मेनका गांधी

4. Sushma Swaraj / सुषमा �राज

Correct Answer :-

Smriti Irani / �ृित ईरानी

Who is the Cabinet Secretary of India? / भारत का कैिबनट सिचव कौन है?

1. Shyamala Gopinath / �ामला गोपीनाथ

2. Pradeep Kumar Sinha / �दीप कुमार िस�ा

3. S Jaishankar / एस जयशंकर

4. R K Dutta / आर के द�ा

Correct Answer :-

Pradeep Kumar Sinha / �दीप कुमार िस�ा

Who is the Union Minister for Science and Technology? / िव�ान और �ौ�ोिगकी के के�ीय मं�ी कौन
ह�?

1. Harsimrat Kaur Badal / हरिसमरत कौर बादल

2. Narendra Tomar / नरे� तोमर

3. Uma Bhara� / उमा भारती

4. Harsh Vardhan / हष�वध�न

Correct Answer :-

Harsh Vardhan / हष�वध�न

ै
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An�-Leprosy Day is observed on / कु� रोग उ�ूलन िदवस _______ को मनाया जाता है।

1. April 25th / 25 अ�ैल

2. January 30th / 30 जनवरी

3. December 1st / 1 िदस�र

4. July 3rd / 3 जुलाई

Correct Answer :-

January 30th / 30 जनवरी

Cow Sanctuary in Madhya Pradesh is located at: / म� य �देश म� गाय अभयार� य िन� न � थान पर ��थत
है:

1. Pachama (Sehore) / पचमा (िसहोर)

2. Salariya (Agar) / सल�रया (अगर)

3. Mangaliya (Indore) / म�ग िलया (इ� दौर)

4. Bandol (Seoni) / बंडोल (िसओनी)

Correct Answer :-

Salariya (Agar) / सल�रया (अगर)

______is India's first dedicated space observatory launched in 2016. / __________ भारत की �थम
समिप�त अंत�र� वैधशाला है िजसका ��ेपण 2016 म� िकया गया था।

1. CARTOSAT / काट�सेट

2. SARAL / सरल

3. ASTROSAT / ए�� ोसैट

4. Kalpana – I / क�ना - I

Correct Answer :-

ASTROSAT / ए�� ोसैट

Which yogana intends to rid villages of filth and mud and create atmosphere of sanita�on. / िकस
योजना का उ�े� य गांवो ंको गंदगी तथा कीचड़ से मु� करना तथा � व� छ वातावरण का िनमा�ण करना है?

1. Ladli Laxmi Yogana / लाडली ल� मी योजना

2. Mukhyamantri Gram Sadak Yojana / मु� यमं�ी �ाम सड़क योजना

3. Nandishala Yogana / नंदीशाला योजना

4. Panch Parmeshwar Yojana / पंच परमे� वर योजना
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Correct Answer :-

Panch Parmeshwar Yojana / पंच परमे� वर योजना

Which Indian won the 2017 Australian Super Series Badminton tournament? / िकस भारतीय ने 2017
ऑ��ेिलयन सुपर �ंृखला बैडिमंटन खेल �ितयोिगता जीती थी?

1. Nanda Gopal / नंदा गोपाल

2. P V Sindhu / पी वी िसंधु

3. Kidambi Srikanth / िकदंबी �ीकांत

4. Sai Praneeth / साईं �णीत

Correct Answer :-

Kidambi Srikanth / िकदंबी �ीकांत

Select the option that is true about the Statements and Conclusions given:
 Statements: 

 All flowers are seeds
 No petals are flowers
 Conclusions: 

 I. No petal is a seed
 II. All petals are seeds

 / उस िवक� का चयन कीिजए जोिक िदए गए कथनो ंऔर िन�ष� के बारे म� सही है :
 कथन:

 सभी फूल बीज ह�

कोई पंखुड़ी फूल नही ंह� 
 िन� कष�:

 I. कोई पंखुड़ी एक बीज नही ंहै 
 II. सभी पंखुड़ी बीज ह�

1. both conclusion I and II follows  / िन�ष� I और II दोनो ंअनुसरण करते ह�

2. either conclusion I or conclusion II follows / या तो िन�ष� I या िन�ष� II अनुसरण करते ह�

3. only conclusion I follows  /  केवल िन�ष� I अनुसरण करता है

4. only conclusion II follows  /  केवल िन�ष� II अनुसरण करता है

Correct Answer :-

either conclusion I or conclusion II follows / या तो िन�ष� I या िन�ष� II अनुसरण करते ह�

If paper is called wood, wood is called straw, straw is called grass, grass is called rubber and rubber
is called cloth, what are tyres made of? / यिद paper को wood कहा जाता है, wood को straw कहा जाता है, straw
को grass कहा जाता है, grass को rubber कहा जाता है और rubber को cloth कहा जाता है, तो टायर िकस चीज़ का
बना होता है?

1. Cloth
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2. Grass

3. Rubber

4. None of the above / इनम� से िकसी चीज़ से नही ं

Correct Answer :-

Cloth

Complete the series choosing the missing number:  / लु� सं�ा चुनकर �ंृखला को पूरा
कीिजए:

3, 6, 5, 20, 7, 42, 9, ______

1. 66

2. 54

3. 72

4. 60

Correct Answer :-

72

Complete the series choosing the missing number:  / लु� सं�ा चुनकर �ंृखला को पूरा
कीिजए:

12, 32, ______, 152, 312

1. 74

2. 75

3. 70

4. 72

Correct Answer :-

72

Complete the series choosing the missing number:  / लु� सं�ा चुनकर �ंृखला को पूरा
कीिजए:

21, 25, 33, 49, _______

1. 80

2. 75

3. 81

4. 72
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Correct Answer :-

81

CANCELLED

Swami Vivekananda attended the conference of World Religions in 1903 at / �ामी िववेकानंद ने 1903 म�,
यहाँ आयोिजत िव� धम� के स�ेलन म� भाग िलया था:

1. London / लंदन

2. New York / �ूयॉक�

3. Tokyo / टो�ो

4. Chicago / िशकागो

Correct Answer :-

Chicago / िशकागो

The series given below contains a sequence of numbers. Identify the incorrect combination: / नीचे दी
गई �ंृखला म�, सं�ाओ ंका एक �म उप��थत ह�। गलत संयोजन पहचािनए:

4, 9, 19, 40, 79

1. 4

2. 40

3. 9

4. 79

Correct Answer :-

40

Find the odd one out: / एक िवषम �ात कीिजए:

115, 100, 90, 70, 45, 15

1. 100

2. 90

3. 45

4. 70

Correct Answer :-

100
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Two dice are thrown simultaneously. What is the probability of getting a sum, which is a multiple of 4.
/ दो पांसे एक साथ फ� के गए ह�। उनसे ऐसा योग �ा� त करने की �ाियकता िन� न है जो 4 का गुणांक हो:

1. 

2. 

3. 

4. 

Correct Answer :-

Complete the series choosing the missing letter/s: / लु� अ�र/अ�रो ंको चुनकर �ंृखला को पूरा कीिजए:

 aab__a__bb__a

1. a, b, b

2. a, b, a

3. b, a, b

4. b, a, a

Correct Answer :-

b, a, a

A is taller than B who is shorter than C. D is taller than E but shorter than B. C is shorter than A.
Who is the tallest? / A, B से लंबा है जोिक िक C से छोटा है। D, E से लंबा है लेिकन B से छोटा है। C, A से छोटा है।
सबसे लंबा कौन है?

1. E

2. C

3. A

4. D

Correct Answer :-

A

The series given below contains a sequence of numbers. Identify the incorrect combination: / नीचे दी
गई �ंृखला म�, सं�ाओ ंका एक �म उप��थत ह�। गलत संयोजन पहचािनए:
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325, 259, 202, 160, 127, 105, 94

1. 202

2. 94

3. 127

4. 259

Correct Answer :-

202

How many 5-digit numbers can be formed with 0, 1, 2, 3, 5, which are divisible by 2? / अंको ं0, 1, 2, 3,
5, से 5 अंक वाली ऐसी िकतनी सं� याएं िनिम�त हो सकती ह� जो 2 से भा� य ह�?

1. 42

2. 24

3. 72

4. 60

Correct Answer :-

42

Select the option that is true about the Statements and Conclusions given:
 Statements: 

 Some thieves are robbers
 All burglars are robbers

 Conclusions: 
 I. Some burglars are thieves

 II. Some robbers are thieves

 / उस िवक� का चयन कीिजए जोिक िदए गए कथनो ंऔर िन�ष� के बारे म� सही है :
 कथन:

 कुछ चोर डाकू ह�

सभी स�धमार डाकू ह� 
 िन� कष�:

 I. कुछ स�धमार चोर ह� 
 II. कुछ डाकू चोर ह�

1. both conclusion I and II follows  / िन�ष� I और II दोनो ंअनुसरण करते ह�

2. neither conclusion I nor conclusion II follows / न ही िन�ष� I और न ही िन�ष� II अनुसरण करते ह�

3. only conclusion I follows  /  केवल िन�ष� I अनुसरण करता है

4. only conclusion II follows  /  केवल िन�ष� II अनुसरण करता है

Correct Answer :-
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only conclusion II follows  /  केवल िन�ष� II अनुसरण करता है

Select the option that is true about the Statements and Conclusions given:
 Statements: 

 All doctors are surgeons
 Some doctors are homoeopaths

 Conclusions: 
 I. Some homoeopaths are surgeons

 II. All homoeopaths are surgeons

 / उस िवक� का चयन कीिजए जोिक िदए गए कथनो ंऔर िन�ष� के बारे म� सही है :
 कथन:

 सभी डॉ� टर सज�न ह�

कुछ डॉ� टर हो� योपैिथक ह� 
 िन� कष�:

 I. कुछ हो� योपैिथक सज�न ह� 
 II. सभी हो� योपैिथक सज�न ह�

1. both conclusion I and II follows  / िन�ष� I और II दोनो ंअनुसरण करते ह�

2. neither conclusion I nor conclusion II follows / न ही िन�ष� I और न ही िन�ष� II अनुसरण करते ह�

3. only conclusion I follows  /  केवल िन�ष� I अनुसरण करता है

4. only conclusion II follows  /  केवल िन�ष� II अनुसरण करता है

Correct Answer :-

only conclusion I follows  /  केवल िन�ष� I अनुसरण करता है

Select the option that is true about the Statements and Conclusions given:
 Statements: 

 No charms are harms
 No balms are harms

 Conclusions: 
 I. No balms are charms

 II. Some balms are charms 

/ उस िवक� का चयन कीिजए जोिक िदए गए कथनो ंऔर िन�ष� के बारे म� सही है :
 कथन:

 कोई चाम� हाम� नही ंह�

कोई बाम हाम� नही ंह� 
 िन� कष�:

 I. कोई बाम चाम� नही ंह� 
 II. कुछ बॉम चाम� ह�

1. both conclusion I and II follows  / िन�ष� I और II दोनो ंअनुसरण करते ह�

2. either conclusion I or conclusion II follows / या तो िन�ष� I या िन�ष� II अनुसरण करते ह�

3. only conclusion I follows  /  केवल िन�ष� I अनुसरण करता है
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4. only conclusion II follows  /  केवल िन�ष� II अनुसरण करता है

Correct Answer :-

either conclusion I or conclusion II follows / या तो िन�ष� I या िन�ष� II अनुसरण करते ह�

In a certain code language, rng gat goz mpq means Integrated Rural Development

Programme, tyho rng fem means Improved Rural Economy, and mes rds tyho means Urban

Economy vitalisation. Which is the word for Improved in that code language?  /एक ख़ास
कोड भाषा म�,  rng gat goz mpq  का अथ� Integrated Rural Development Programme; tyho rng

fem  का अथ� Improved Rural Economy तथा mes rds tyho का अथ� Urban Economy vitalisation

होता है। इस कोड भाषा म� Improved के िलए िकस श� का इ�ेमाल िकया गया है?

1. goz

2. rng

3. tyho

4. fem

Correct Answer :-

fem

If TANGENT is coded NATGTNE, then how is MUSTARD coded? ? / यिद  TANGENT  को
NATGTNE से कोिडत िकया जाता है, तो MUSTARD  को कैसे कोिडत िकया जायेगा?

1. SUMTPRA

2. SUMTDRA

3. DRATMUS

4. MUSTDRA

Correct Answer :-

SUMTDRA

If MONKEY is coded YEKNOM, then how is REMEDY coded? / यिद  MONKEY  को YEKNOM से
कोिडत िकया जाता है, तो REMEDY  को कैसे कोिडत िकया जायेगा?

1. RDEMEY

2. YEDEMR

3. YDEMER

4. YREMED

Correct Answer :-

YDEMER


